



Name: \_\_\_\_\_

Datum: \_\_\_\_\_ Ergebnis: \_\_\_\_\_

$$(-9)^3 - (-10) =$$

$$10 + 4 =$$

$$1^3 + (-2) =$$

$$(-4)^2 - 7 =$$

$$10^3 + (-2) =$$

$$(-5)^0 - 1 =$$

$$(-6)^2 - (-9) =$$

$$10^2 + 10 =$$

$$(-3)^3 + (-3) =$$

$$1^2 + 5 =$$

$$9^2 + (-4) =$$

$$(-4)^3 - 5 =$$

$$5^0 + (-1) =$$

$$5^0 + (-8) =$$

$$(-5)^3 + (-6) =$$

$$8 - 3 =$$

$$(-5)^2 - 10 =$$

$$(-4)^3 - (-3) =$$

$$(-4)^3 + (-2) =$$

$$10^2 - 10 =$$



Name: \_\_\_\_\_

Datum: \_\_\_\_\_ Ergebnis: \_\_\_\_\_

$$(-9)^3 - (-10) = (-719)$$

$$10 + 4 = 14$$

$$1^3 + (-2) = (-1)$$

$$(-4)^2 - 7 = 9$$

$$10^3 + (-2) = 998$$

$$(-5)^0 - 1 = 0$$

$$(-6)^2 - (-9) = 45$$

$$10^2 + 10 = 110$$

$$(-3)^3 + (-3) = (-30)$$

$$1^2 + 5 = 6$$

$$9^2 + (-4) = 77$$

$$(-4)^3 - 5 = (-69)$$

$$5^0 + (-1) = 0$$

$$5^0 + (-8) = (-7)$$

$$(-5)^3 + (-6) = (-131)$$

$$8 - 3 = 5$$

$$(-5)^2 - 10 = 15$$

$$(-4)^3 - (-3) = (-61)$$

$$(-4)^3 + (-2) = (-66)$$

$$10^2 - 10 = 90$$